Instructions

1. All questions should be attempted.

2. Show all working.

3.  START EACH QUESTION ON A NEW PAGE.

4.  Marks will be deducted for careless work or poorly presented solutions.
5.
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On the cover sheet of the answer booklet clearly show:

a) your name
b) your mathematics class and teacher
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Question 1 (10 marks) Marks
(0.5-2.3)% L
Evaluate ~———
2 Bvalwte S 4
s 2
b)  Simplify (x)3) 1
©) Which are irrational? 1
V2, 1414, ¥27, =, 089
d)  Rationalise the denominator of 3
e) Expand (1-2x)° then simplify 2
) Factorise fully 2

)y  —10x-5y

i) a%-25
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Question 2 (10 marks)

a) Express 0.357 as a fraction in simplified form.

b)  Factorise x°+27 .

<

o  Simplify 97 +2475 ~2J63 + 43

d) ¥ w =\/% calculate 2 when W =0.2 and g=9.38.

Marks
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Question 3 (10 marks)

a) Expand and simplify

) (BB

i) ala+b)-bla-b)

i) (2-342) -(+342)

6-243

b) Rationalise the denominator in —

6+243 "

Marks
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Question 4 (10 marks)

a)

b)

d)

Solve 2x?—3x=0.

Simplify

) 3 4
2WT-5 27+45

i) (a+2)a?-2a+4)

Make ¢ the subjectof (a+bYa—c)=ab

3a2x5y

Simplify —————
15a5 %3 y

Marks
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Question 5 (10 marks) Marks
a) Solve simultaneously 3
S5x+4y=18
2x—5y=—6
v
b) Factorise fully ' 4
iy  2x*-x-15
2 2
i) (x-y)’-(cty)
L2 2
¢)  Simplify QL&E_ 3

(x + 2)(x - 1)
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Question 6 (10 marks) Marks
a) Solve 5x?+13x—7=0 giving answers in exact form 2
b) Factorise fully and simplify 6

)y  (-d)+@-d)Yi-x)

. 3x? +13x-10

ii) —_—

x“+5x
-1 2x% +2x
iif) T X 5
X x“ -1

c) Solve Zx -3 -5x=3 2
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Question 7 (10 marks) Marks
a) Solve 3x>—6x—2=0 by completing the square. 3
b) Factorise fully 4

) 16-24°

if) a’b—ab—-a’+a

_ 4

©) Simplify 3

%% —3x—4 N x> —dx
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Question 8 (10 marks) Marks
a) Factorise fully c(x— b)3 +dc 2

b) A town’s population is found using the formula P =A4,2.7 0.15¢
where A, is the initial population at the start of 2000 and ¢ is the number of
years after 2000. If Ay = 25000, what is the town’s population at the start of 2008. 2

c) Simplify 6
i) x+1 1
x-1 (x—l)2
i) a—4 _ 6a—18
a>+a-6 a’-5a+6

End of Paper
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